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Arithmetic Operation - 2

1. 556644110 + 383700572 — 679837640 =

a) 265007042 b) 260507042
<) 360507042 d) 460507042

2. In a country there are 456230000 Hindus, 87680057 Muslims, 12565784 Christians and 63783542
Sikhs are staying. What is total population of India in Indian number system? 620259383

a) Sixty two crores twenty five lakh nine thousand three hundred eighty three
b) Fifty two crores twenty five lakh nine thousand three hundred eighty three
c) Six crores twenty five lakh nine thousand three hundred eighty three

d) Sixty two crores two lakh fifty nine thousand three hundred eighty three

3. How much should be added to the sum of 37877515 and 23326812 to get 700000007?
a) 8795673 b) 8975673
c) 7895673 d) 8759673

4. The population of a city is 10378982, out of which 5126781 are men and 4502755 are
women. How many children are there?

a) 794446 b) 749446
<) 649446 d) 759446

5. An oil manufacturer sold 2236750 liters of oil on Monday, 2122345 liters on Tuesday and
5445870 liters on Wednesday. If it had 10000000 liters of oil on starting of the week, then how
much of oil is present for the rest of the week?

a) 295035 b) 159035
c) 395035 d) 195035

6. The difference between two numbers is 128319. If the smaller number is 548287572, find the
larger number?

a) 458415891 b) 548415891
<) 584415891 d) 548159253
7. Find by how much is the sum of 632235671 and 245202506 greater than their difference?
a) 494005012 b) 590405012

c) 490405012 d) 490504012
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8. What is the difference between greatest 8-digit number and smallest 8-digit number?

a) 99999999

c) 10000000

9.777777000 - = 54125605

a) 723651395

c) 713651395

10. What is the product of 32564 and 23547
a) 67362580

<) 76362580
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89999999

89999990

733651395

623651395

73662580

None of these



